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=N 49,815,066 45,133,767 4,681,299
=2 13,220,428 12,723,228 497,200
2 4,069,000 4,364,200 A 295,200
s 2,812,187 2,112,187 700,000
= 5,922,132 4,907,802 1,014,330
2 23,791,319 21,026,350 2,764,969
FoEX Hg 8,129,932 7,129,932 1,000,000
= 2,359,419 2,359,419 0
£ 874,121 874, 121 0
(= 156,852 116,852 40,000
2 4,739,540 3,779,540 960,000
K| SO0 AL 4,590,600 3,630,600 960,000
XS e X ALY 150,000 0 150,000
401 Al Y2 20| 150,000 0 150,000
01 Al&HI 150,000 0 150,000
ASADSAIZA 150,000,000 150,000 0 150,000
ARDTQ=2A(ZAH) 1,683,600 923,600 760,000
401 Al Y2 20| 1,683,600 923,600 760,000
01 Al&H| 1,680,000 920,000 760,000
OBENSR3cE 89 2 EXNBA
100,000,000 100,000 0 100,000
O Hor2 AT AL 30,000,000 30,000 0 30,000
Ontsot2 2 s2 X E™2IAFY 50,000,000 50,000 0 50,000
OSULOMWBRANELZ | 80,000,000 80,000 0 80,000
OUcIDIEMel XY S TR A
100,000,000 100,000 0 100,000
OSHNECSHIBXISESS U BA
40,000,000 1090 A 400,000 0 400,000
AR DI =2AALY 150,000 100,000 50,000
401 Al Y2 20| 150,000 100,000 50,000
01 A& H| 150,000 100,000 50,000
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150,000, 0002 150,000 100,000 50,000
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[ 40,000 0 40,000
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[ 40,000 0 40,000
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< 17,000 0 17,000
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z 3,408,000 3,703,200 £295,200
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2 2,272,000 2,468,800 196,800
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< 140,000 180,000 A 40,000
2 326,000 420,000 94,000
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2 326,000 420,000 94,000
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2 20,000 0 20,000
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| o 20,000 0 20,000
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= 650,000 0 650,000
401 Al&HI & 28I 650,000 0 650,000
= 650,000 0 650,000
01 A& HI 650,000 0 650,000
O 2Itotd FANEFAL 650,000,000 650,000 0 650,000
= 650,000 0 650,000
LY HEX P Mool A 700,000 0 700,000
= 700,000 0 700,000
401 AIEHI L 2 CHYI 700,000 0 700,000
= 700,000 0 700,000
01 A& HI 700,000 0 700,000
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700,000,000 700,000 0 700,000
£ 700,000 0 700,000
gZEFHIG X2 ALY 235,870 231,536 4,334
g2EFEIA XA 235,870 231,536 4,334
401 Al& I 28I 235,870 231,536 4,334
01 A& HI 235,870 231,536 4,334
Og2dd =HIAXI A 235,870 231,536 4,334
0.&hdE AlorH 235,870,000& 235,870 231,536 4,334
M ehord 2ke| 204,443 206, 388 A 1,945
= 5,390 5,390 0
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GHHLH DRSS 51,583 53,528 1,945
< 4,815 5,400 A 585
fia 46,768 48,128 A 1,360
Ot 2ot2s A Y 16,055 18,000 A 1,945
= 4,815 5,400 A 585
= 11,240 12,600 A 1,360
201 €2l 16,055 18,000 A 1,945
< 4,815 5,400 A 585
s 11,240 12,600 A 1,360
01 At 224l 16,055 18,000 A 1,945
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302 Ol Mol 24 = 92,311 27,811 64,500
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nEsdd Mo 6,908,856 6,422,726 486,130
= 19,600 15,400 4,200
< 1,663,983 1,336,568 327,415
s 5,225,273 5,070,758 164,515
== gl Fal 1,590,286 1,271,686 318,600
< 1,300,000 1,000,000 300,000
[ia 290,286 271,686 18,600
DsEMAS 290,286 271,686 18,600
401 AIEHI L 20 149,600 131,000 18,600
01 A& HI 149,600 131,000 18,600
O dx HAERA BYRX 24
600,000& *31m 18,600 0 18,600
MEHAZERA BEEHOE =4 1,300,000 1,000,000 300,000
= 1,300,000 1,000,000 300,000
401 AIEHI L 2CHYI 1,300,000 1,000,000 300,000
= 1,300,000 1,000,000 300,000
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= 19,600 15,400 4,200
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< 29,400 20,000 9,400
= 29,400 20,000 9,400
09 2sHHEBES 78,400 55,400 23,000
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= 19,600 15,400 4,200
< 29,400 20,000 9,400
= 29,400 20,000 9,400
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S 334,583 316,568 18,015
= 4,522,023 4,425,008 97,015
MOFHA MERA 20,000 15,000 5,000
307 2Iztol ™ 20,000 15,000 5,000
09 2sHHABXS 20,000 15,000 5,000
O DZE~AE SY 22 NOFHA WEA
(dz=2d) 20,000, 000& 20,000 15,000 5,000
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< 138,969 138,954 15
= 138,969 138,954 15
307 Qiz2tol & 277,938 277,908 30
< 138,969 138,954 15
= 138,969 138,954 15
09 2HAHABXS 277,938 277,908 30
O s0ZH4 DEIC T
2,600,000& 2,600 2,570 30
< 1,300 1,285 15
= 1,300 1,285 15
SEHALENSE ALY 110,000 0 110,000
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